
 
char R; 
int val; 
 int encoderPinA = 3; 
int encoderPinB = 2; 
float encoderPos = 0; 
int encoderPinALast = LOW; 
int encoderPinBLast = LOW; 
int n = LOW; 
int m = LOW; 
  
void setup() { 
   pinMode (encoderPinA,INPUT); 
   pinMode (encoderPinB,INPUT); 
   Serial1.begin (9600); 
} 
  
void loop() { 
   n = digitalRead(encoderPinA); 
   if ((encoderPinALast == HIGH) && (n == LOW)) 
   { 
     if (digitalRead(encoderPinB) == LOW) 
     { 
       encoderPos = encoderPos + 1 ; 
     } 
     else 
     { 
       encoderPos = encoderPos - 1; 
     } 
    if(encoderPos > 224 ) 
     { 
        encoderPos = 0; 
     } 
     if (encoderPos < 0) 
     { 
       encoderPos = 224; 
     } 
   
    
      
     Serial1.write(int(encoderPos)); 
     
   } 
  
   
      
    
   



   
   
    
   encoderPinALast = n; 
   
    
   if (Serial1.available()>0) 
   { 
     R = (char)Serial1.read(); 
     if (R == 'r' || R == 'R') 
     { 
       encoderPos = 0; 
     } 
   } 
   
   if (Serial.available()>0) 
   { 
     R = (char)Serial.read(); 
     if (R == 'r' || R == 'R') 
     { 
       encoderPos = 0; 
     } 
   } 
   
 } 
 	
  


